HW9 KEY HS 67 F08
Assigned 11/18/08 

Draft: 12/25?

Due: 12/2/08  
Exercises:  18.1, 18.2, 18.4, 18.5, 18.6*, 18.7*, 18.8, 18.9, 18.10*, 18.11*, 18.12, 18.36a, 18.37*, 19.1 – 19.6, 19.10* OPTIONAL: 18.15 – 18.24, 19.22 – 19.29 
*SEE MODIFICATIONS ON HW9.doc!

	Part A of HW9: single samples
	pts
	awarded

	All items are completed in careful & thoughtful manner. 
	
	

	18.2) Standard deviation from SE: Solve for s, s = SE ∙ √n = 5.36 ∙ √6 = 13.13 mg/dl
	0
	

	[image: image1.emf]
	1
	

	18.6a. Conductivity Stemplot 
10|7788

11|1122

11|88

x1
(no outliers and no clear departures from Normality)
	1
	

	18.6b. Conductivity 95% CI for µ. Calculate x-bar = 1.1182 and s = 0.04378, 
[image: image2.emf]
	2
	

	18.6c. Conductivity test from CI.  Yes, the difference is significant: the CI does not include 1, we reject H0: μ = 1 
	1
	

	18.7. Ancient air stemplot 
4|9

5|14

6|03344

6|5

x10
No outliers, no evidence of departure from Normality
	1
	

	18.7 Ancient Air  90% CI for µ 
[image: image3.emf]
[image: image4.emf]
	2
	

	[image: image5.emf]
	1
	

	18.10 Ancient air, test from CI, modification a. We cannot reject H0: μ = 60 at the alpha = .10 (two-sided), no significant difference based on the 90% CI for μ of 55.7 to 63.5.
	1
	

	18.10 Ancient air, test from CI, modification b. We can reject H0: μ = 70 at an alpha = .10 two-sided level; significant difference.
	1
	

	TOTAL FOR PART A
	10
	


	Part B of HW9: paired samples
	
	

	18.11 Does nature heal better? a)  H0: µ = 0 vs. Ha: µ ≠ 0 
	0
	

	18.11b) Does nature heal better? stemplot: The negative and positive signs may be switched, depending on the order of the operation. This will not materially affect results.
-1|0

-0|34

 0|1133347

 1|02

 2|2

 3|1
x 10
No clear departures from Normality.  
	2
	

	18.11c) Does nature heal better, hypothesis test. Calculate xbar = 5.7143, s = 10.5643. Then calculate 

[image: image6]
One-sided P between .025 and .05, and two-sided P between .05 and .10

Interpretation: marginally significant (i.e., significant at alpha = .10 but not at alpha = .05) 
	1
	

	18.12. How much better does nature heal, 90% CI for µ.

[image: image7.emf]
	3
	

	18.36 Calcium and blood pressure, 95% CI for µ.

[image: image8.emf]
	3
	

	18.37a) Each observation for a treatment is uniquely matched with that of the placebo (by individual), i.e., the responses are not independent. 
(b) H0: μ = 0; t = (−0.326 – 0) / 0.181/√6) = −4.41; df = 6 – 1 = 5; one-sided P: .0025 < P < .005; two-sided P: .005 < P < .01; highly significant evidence against H0.
	1
	

	TOTAL FOR PART B
	10
	


	Part C of HW9: independent samples
	
	

	19.2 independent samples 19.4 independent sample
	1
	

	[image: image9.emf]
	0
	

	19.10 Logging data, stemplot analysis 
Single stem-values

unlog.      logged

        |0|4

99855333|1|02455788

    2210|2|

        x10

Split stem:
unlogged      logged
         |0|4
         |0|
      333|1|024
    99855|1|55788
     2210|2|
         |2|
         x10

Interpretation: The unlogged values are larger on average (shifted down stem). Possible negative skew in logged distribution.
	2
	

	19.10   Loggind data, means and standard deviations via calculator
[image: image10.emf] 
	2
	

	19.10 Logging data, 90% CI for for µ1 – µ2  

[image: image11.emf]   
Use t* = 1.860 (df = 8) for 90% confidence

90% CI for µ1 – µ2  =  [image: image12.emf]
	2
	

	19.10 Loggind data, hypothesis test of H0: µ1 - µ2 = 0 via 90% CI 

The difference is significant, snice the 90% CI does not include 0.
	2
	

	19.10 Logging data tyest of H0: µ1 - µ2 = 0 (two-sided) with t statistic

t = (17.50 – 13.67) / 1.813 = 2.11 with df = 8
One-sided P between .05 and .025; two-sided P between .10 and .05

The difference is marginally significant
	2
	

	TOTAL FOR PART C
	10
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